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1: Read and match.

[2] [2] [:] [2] [5]

flower shop town
centfre

library playground

1) tree 1) street 1) shop 1) park

(2) swimming pooD) | 2) playground 2) zoo 2) Town centre




Q3: -Look and circle the correct answer.

@)[(/ There are ) a woman in the park.

@)[( There's / There are ) a man in the park.

@ (There's / There are ) two trees in the park.

@;{ (There's / There are ) a teddy in the park.

Qq (There's / There are ) boys in the park.

@ (There's / There are ) a girl in the park.

@ (There's / There are ) a kite in the park.




4. Complete the missing letters.

h_ T

5: Write a sentence using the given word.

\Ther'e
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Aysha Abdulla Aljazaf

Coordinator
12/2/2024
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Unif? Crade 1 Answer key

1: Read and match.

[2] [2] [:] [2]

library _playground

[5]

1) tree

(2) swimming pool

2) playground

2) Town centre




Q3: -Look and circle the correct answer.

@)[(/ There are ) a woman in the park.

@)[(/ There are ) a man in the park.

@ (There's /) two trees in the park.

C‘?';{ / There are ) a teddy in the park.

@[ (There's /There ared) boys in the park.

@ There are ) a girl in the park.

@]E / There are ) a kite in the park.




4. Complete the missing letters.

ha T

i 7

There 1
) J:Theres ashop.—f
' FOWN C/// """""

5: Write a sentence using the given word.

- é-..,]
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School Principal el



